Sum/Difference, Double Angle and Half-Angle Practice
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Given sina = -51 O<a<Z cospp= - _llf < p< }.? find
a. sinfa + f)
b. cosla + f) < >
c. tanla + p)
/
Given that tanf = — % and @ is in quadrant 11, find the following: B
a. sin(260)
b. cos(26)
c. tan(28)
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Prove the following identity

Prove the following identity

f—_( ) Y
sin(xr — . iy T o Y win® ain?® 4
¥ ane<tany sin(x+ y)- sin(x—y)=sin" x—sin" )
COST COSY
Prove the following identity <> Prove the following identity %
cos(a—f)—cos|la+ f)=2sina- si 9 ) "
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Prove the following identity

Prove the following identity
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l-cos"x 1 sin 2x
—_— = —fanx tanx = —
sin 2x 1+cos2x
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Prove the following identity N Prove the following identity
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SeC2x = — L{{l:coﬂx
1-2sin” x CBC X
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f A+B+C=x, and A+B=x-C, then tan(A+ B)=tan(7r — C). Using these
relations to prove that: tanA + tanB + tanC = tanA-tanB-tanC.

Prove the following identity

Y

AN

sin(x — y) sin(y — z) sin(z — x)
+ =+ =0
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/ A ball attached to a spring is raised 2 feet and released with an initial vertical velocity of 3 feet per second. The distance of \
the ball from its rest position after fceconds ic aiven by A= 2 cas +4 3 cin # Show that

2cost+ 3sint = /13 cos(t — 6)

3
where @ lies in quadrant | and tané = 5




Use Sum/Difference Formulas to give the exact value of the trigonometric
ratios below. Confirm you solution using a calculator

Y

Sn
sin 195° cos —15° tan
12
Use Half Angle Formulas to give the exact value of the trigonometric
ratios below. Confirm you solution using a calculator
. S5n Tr
T co8 - tan 22.5°
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